BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x10° 5%x10° 10%

10

0

—100

1000 10*

100

rm240 2/(412588 4963) 0.952
T | T | T | |
i BIC 4521 11 .03 ABIC 0. OOO AlogP 0.0000 ]
- x 387938.44 Ax 0.000 AlogP 0.0000 A
5 — — — — — i
B i_ L o~ 1 BIC
N T
— 2
' ' X
| ABIC —110236 1060 :( |
, AP —110236 —-103.3
4873 : 4873 4963
A | : | ACg ] | AC5F | |
20 40 60 80 100 120
120 iterations
rm240 2/(412588 4963) 0.952
N T T T T T T I
| BIC 4521 11 .03 ABIC 0. OOO AlogP 0.0000 |
2 2
|
60 80 100 120
120 iterations
Fe2 10% 1044257 km/s
BLR 9110 NLR 900 km/s
| T | | [
---------------------------------------------------------------- < BLR
------------------------------- e s W\ [E
AT -—".'_'__H:L‘__'."—-_— Fe”
I900 7]
. ACgF ]
| L | L | L |
60 80 100 120

120 iterations

kdh1 12-0ct-2021 00:12



